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Read each question carefully before you start to answer it.
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Check your answers if you have time at the end.
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Answer ALL questions.
Write your answers in the spaces provided.

1 (a) State the meaning of ‘freedom of assembly’ under the Human Rights Act 1998.

(b) Explain briefly an individual’s rights to freedom of expression under the Human
Rights Act 1998.
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Jonas regularly attends protests to support the rights of refugees entering the UK.

After reading in a newspaper that his details had been held by the police for at least
10 years, Jonas contacted the police to request a copy of all the information held
about him. Jonas also asked that the police delete his details.

Jonas has been informed by the police that his details are held on a suspected
terrorist list, but refuse to give him any further details or delete him from the list.

(c) Evaluate Jonas’s rights to the information held by the police and his rights to
protect his privacy.
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7

2 Avradio station implied in several live broadcasts that Adamu, the owner of a large
British construction business, was responsible for deaths caused by a dam collapsing.
The radio station also alleged Adamu knew about the poor quality of the work when
building the dam, but took no action to address this.

(@) Analyse Adamu’s claim against the radio station under the Defamation Act 2013.

(6)
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DO NOT WRITE INTHIS AREA

Rasma owned a fast food restaurant. One night he forgot to turn the oven off, which
started a large fire and caused an explosion. Mia, a fire fighter, who had been called
to put the fire out was injured in the explosion.

(b) Evaluate Mia’s rights and remedies, under the Occupiers’ Liability Acts, in respect
of the injuries sustained.
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3 (a) Describe two situations when an omission may form the actus reus of a
criminal offence.

e
2 e e
Bob has been prosecuted for entering an elderly woman’s house, stealing an
expensive watch and hitting the woman with a heavy object resulting in a
serious injury.
Bob has a history of committing similar offences. Bob has pleaded guilty.
(b) Analyse the sentences that may be appropriate for Bob in this situation.
10
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Dev filled his car with petrol at a petrol station. Once he had finished he realised that
he had left his money at home. When the petrol attendant was not looking, Dev left
the petrol station without paying for the petrol.
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(c) Assess Dev’s possible criminal liability for making off without having paid for
the petrol.
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(Total for Question 3 = 20 marks)
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4 Dave recently purchased a used car from Dodgy Motors. When Dave got the car
home and properly inspected it, he noticed a new dent on the door and some old
scratches to the paint work. He also noticed that the brake lights and the windscreen
wipers were broken. The next day, upon starting the engine, Dave became aware of
smoke coming from the exhaust just before the car broke down.

Dave later learnt that the engine had not been properly repaired by Dodgy Motors
and a replacement engine was more expensive than the price Dave had paid for
the car.

(a) Identify, from the scenario, which faults to the car are likely to be treated as a
condition of the contract and those that are likely to be treated as a warranty.

Rana had a problem with the brakes on her car. Rana asked Ahmed, her friend and
a car mechanicg, to fix the problem. Ahmed told Rana that he had fixed the problem
with the brakes. However, Ahmed had in fact forgotten to make the correct
adjustments to the brakes.

As Rana drove off, she tested the brakes which caused the car to swerve and hit
a tree.

(b) Analyse whether Ahmed owed a duty of care to Rana.
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As a result of hitting the tree, Rana’s car was slightly damaged. Rana also suffered
injuries leading to her having to take time off work.

(c) Assess whether Ahmed has breached his duty of care to Rana and what damages
to Rana may be appropriate.
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(Total for Question 4 = 20 marks)
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5

Dave had a football shirt signed by a famous player. He got into a discussion about its
value with his friends, Ginika and Henry. Dave said, ‘Anyone who brings £200 in cash
to my house can have the shirt!

That evening, Ginika messaged Dave, saying, ‘l will bring £200 into work tomorrow for
that shirt. No need to reply. Consider it sold.

Henry found out about Ginika’s message and showed Dave an envelope containing
£220 at work the next day. Henry said, ‘£220! I'll take that football shirt! Dave told
Henry to hold on to the money whilst he talked it over with Ginika. However, Ginika
had changed her mind about buying the shirt. Dave told Henry that he would take
the £220 but Henry refused to go ahead with the deal.

Evaluate Dave’s legal rights and remedies in this situation.
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(Total for Question 5 = 20 marks)

TOTAL FOR PAPER = 100 MARKS
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